THEERBEERE 2 1 RICE D XEOBEERICET HFEROLK

(SHS5E7BAR)
<ZHBEOERESE>
HIOEE |IR1EE | R2EE | R3EE | RAEE | ROEE
21K 0. 0% 100. 0% | 50. 0% 25. 0% 75. 0% 71. 4%
<EBBOLHIE>
HOERE |R1FEE | R2ZFEE | R3FEE | RAFEE | ROFEE
£k 46. 9% 48. 6% 47. 3% 47. 6% 47. 2% 48. 7%
<EBEBORKR>
HIOEE |IR1EE | R2EE | R3EE | RAEE | ROEE
FREEE 19N 19N 20 A 21 N 17N 17N
SbL&E S5A SA 6A A 6A 6A
ZHEDEE 26. 3% 26. 3% 30. 0% 33. 3% 35. 3% 35. 3%
<EBRENFED KR >
H30EE |R1EE | R2ZZEE | R3FEE | RAFE
BB/ A 9.7h 8.9h 7.1h 9.7h 8.4h
< FEREQRABRIREIR R >
H30ZE | R14 R24E R3ZE | RAERE
EHESGE 9.8H 9.6H 9.18 10.08 | 10.3H
<BHOEEEHEKRBIREGE>
H3I0OEE |R1EE | R2ZEE | R3EE | RAFEE
G REH 4N SA oA 4N 3A
MEEH 3A 4N 6A 4N 2N
iR 75% 80% 100% 100% 67%
<BHEODBRAERGED>
HIOEE |R1EE | R2ZZEE | R3EE | RAFE
MENREN 4N oA 6A 4N 3A
MEEH 1TA (IPN (IPN TA (1PN
Jip R 25% 0% 0% 25% 0%
<ZEDERAENGE>
HIOEE |R1EE | R2ZZEE | R3EE | RAFE
MENRER 2N 3A 4N 2N 1A
mMEEH 2N 3A 4N 2N 1TA

IS

100%

100%

100%

100%

100%




